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𝐵𝑟𝑒𝑎𝑘 − 𝑒𝑣𝑒𝑛 𝑙𝑒𝑣𝑒𝑙 𝑜𝑓 𝑜𝑢𝑡𝑝𝑢𝑡 =
𝐹𝑖𝑥𝑒𝑑 𝑐𝑜𝑠𝑡𝑠

𝐶𝑜𝑛𝑡𝑟𝑖𝑏𝑢𝑡𝑖𝑜𝑛 𝑝𝑒𝑟 𝑢𝑛𝑖𝑡

Fixed costs = $ 3500000000 (Peddie, Jon) 

Contribution per unit = $ 159.32 (see Appendix A) 
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𝐵𝑟𝑒𝑎𝑘 − 𝑒𝑣𝑒𝑛 𝑙𝑒𝑣𝑒𝑙 𝑜𝑓 𝑜𝑢𝑡𝑝𝑢𝑡 =
$ 3500000000

$ 159.32
 
                                                            = 21968365 
 
                                                            ≈ 21.97 million units 
 

𝐵𝑟𝑒𝑎𝑘 − 𝑒𝑣𝑒𝑛 𝑟𝑒𝑣𝑒𝑛𝑢𝑒 =
𝐹𝑖𝑥𝑒𝑑 𝑐𝑜𝑠𝑡𝑠

1 −
𝐷𝑖𝑟𝑒𝑐𝑡 𝑐𝑜𝑠𝑡

𝑃𝑟𝑖𝑐𝑒

Fixed costs = $ 3500000000 (Peddie, Jon) 

Direct cost = $ 190.67 (see Appendix A) 

Price = $ 349.99 (see Appendix A) 

 

𝐵𝑟𝑒𝑎𝑘 − 𝑒𝑣𝑒𝑛 𝑟𝑒𝑣𝑒𝑛𝑢𝑒 =
$ 3500000000

1 −
$ 190.67
$ 349.99

 
                                              = $7688708.26 
 
                                              ≈ $ 7.69 billion 
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Die size = 406 mm2 (“Intel ARC A770 Specs”) 

Wafer diameter = 300 mm (Shilov, Anton) 

Average yield = 70% (Zafar, Ramish) 

Dies per wafer = (Wafer diameter)(π)
𝑊𝑎𝑓𝑒𝑟 𝑑𝑖𝑎𝑚𝑒𝑡𝑒𝑟

4(𝐷𝑖𝑒 𝑠𝑖𝑧𝑒)
−

1

√2(𝐷𝑖𝑒 𝑠𝑖𝑧𝑒)

    = (300)(π)
300

4(406)
−

1

√2(406)

 

    ≈ 99 

Wafer cost = $ 9346 (Shilov, Anton) 
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Cost per die = 
𝑊𝑎𝑓𝑒𝑟 𝑐𝑜𝑠𝑡

𝐷𝑖𝑒𝑠 𝑝𝑒𝑟 𝑤𝑎𝑓𝑒𝑟
 

 

           = 
$ 9346

99
 

 

           = $ 94.67 

 

 

Number of modules = 8 (“Intel ARC A770 Review” 4) 

Price per module = $ 12 (Sen, Seyan) 

Memory cost = (Number of modules)(Price per module) 

             = (8)($ 12) 

             = $ 96.00 
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